|| A Lowecr Bow«ﬂ on Wim‘mr’kl\-é/ o SmostHl— Connéix
U ‘Q“‘“d"""‘" : G l/ﬂv

4@ = Al

- ) z v -
b (Bl= o gl 4 2O =l

= Sye(f)

pT = Sae( B—t79cp)) ?;:'A

£§) = Llly—xelly + >l

pt = B kKT (yxg) ~nks i"jdb\
se el



\ Z-
w2+ Al
2 _
e allZ(

Fack: +eke Z2=UZV'  <cua
Hew  UVT W s a suby o 24,
heee NWlep 2\, UWTW=9, wV=0
wonk =B+ Z 4+ N[ = ©
for 2= Sse(B)
boke B= USVT. Ao
UGS+ 2V T + se(w e uw) = 0

UWES + Zae+ AET)V T + W= O,
=

~-W = u< 2+ 2ot QE'I“)'VT
"
[or &3 > %t
St Gu-XE)+ X _ o,

N=
Chedeed funt (W(_ = v
(sta dedecd USw= W= 0 wf—LM)



